

Exterior direct sum n -Lie algebras

BAI Ruipu

College of Mathematics and Information Science,
Hebei University, Baoding, 071002, China
email: bairuipu@hbu.edu.cn

Zhang Yan

College of Mathematics and Information Science,
Hebei University, Baoding, 071002, China

Abstract

For a given n -Lie algebra A , n -Lie algebra structures on the vector space $A^n = \{ (x_1, \dots, x_n) \mid x_i \in A, 1 \leq i \leq n \}$ are constructed. For each $s \geq 2$, the n -Lie product $[\dots]_s$ is defined on the vector space A^n , which is called the exterior direct sum n -Lie algebra of the n -Lie algebra A . And it is proved that, n -Lie algebra A can be embedded into its exterior direct sum n -Lie algebras. And some ideals and subalgebras of $(A^n, [\dots]_s)$ are obtained.

2010 Mathematics Subject Classification: 17B05 17D30

Keywords: n -Lie algebra, exterior direct sum n -Lie algebra, ideal.

1 Introduction

n -Lie algebra [2, 3] is a kind of multiple algebraic system appearing in many fields in mathematics and mathematical physics [4, 5, 6]. Especially, the structure of 3-Lie algebras is applied to the study of supersymmetry and gauge symmetry transformations of the world-volume theory of multiple coincident M2-branes; the Bagger-Lambert theory has a novel local gauge symmetry which is based on a metric 3-Lie algebra; the n -Jacobi identity can be regarded as a generalized Plucker relation in the physics literature, and so on (cf. [1, 7]). In this paper, we pay our main attention to construct n -Lie algebras from a given n -Lie algebra. For a given n -Lie algebra A , we construct an n -Lie algebra structure on the vector space A^n , which is the direct sum vector space

$A^n = \{(x_1, \dots, x_n) \mid x_i \in A, 1 \leq i \leq n\}$, satisfying that for all $X = (x_1, \dots, x_n)$ and $Y = (y_1, \dots, y_n) \in A^n$ and $\lambda \in F$,

$$X + Y = (x_1, \dots, x_n) + (y_1, \dots, y_n) = (x_1 + y_1, \dots, x_n + y_n),$$

$$\lambda X = \lambda(x_1, \dots, x_n) = (\lambda x_1, \dots, \lambda x_n).$$

The vector space A^n is called the exterior direct sum vector space of A .

An n -Lie algebra [3] is a vector space A over a field F endowed with an n -ary multilinear skew-symmetric multiplication satisfying that for all $x_1, \dots, x_n, y_2, \dots, y_{n-1} \in A$,

$$[[x_1, \dots, x_n], y_2, \dots, y_n] = \sum_{i=1}^n [x_1, \dots, [x_i, y_2, \dots, y_n], \dots, x_n]. \quad (1)$$

The identity (1) is usually called the n -Jacobi identity.

Let A be an n -Lie algebra and V be a subspace of A . If V satisfies that $[V, \dots, V] \subseteq V$, then V is a subalgebra of the n -Lie algebra A . If V satisfies that $[V, A, \dots, A] \subseteq V$, then V is called an ideal of the n -Lie algebra A . If V satisfies that $[V, \dots, V] = 0$ ($[V, V, A, \dots, A] = 0$), then V is called an abelian subalgebra (an abelian ideal).

2 The exterior direct sum n -Lie algebra A^n

Theorem 2.1 *Let A be an n -Lie algebra. Then A^n is an n -Lie algebra in the multiplication $[\dots, \dots]_2$, where for all $X_j = (x_1^j, \dots, x_n^j) \in A^n$, $j = 1, \dots, n$,*

$$[X_1, \dots, X_n]_2 = \left(\sum_{i=1}^n [x_2^1, \dots, x_1^i, \dots, x_2^n], [x_2^1, \dots, x_2^n], \dots, [x_n^1, \dots, x_n^n] \right). \quad (2)$$

Proof It is clear that the multiplication $[\dots, \dots]_2$ defined by Eq.(2) is n -ary linear and skew-symmetric. Now we prove it satisfies identity (1). For all $X_j = (x_1^j, \dots, x_n^j) \in A^n$, $j = 1, \dots, n$, $Y_k = (y_1^k, \dots, y_n^k) \in A^n$, $k = 2, \dots, n$. Suppose

$$\begin{aligned} (z_1, \dots, z_n) &= [[X_1, \dots, X_n]_2, Y_2, \dots, Y_n]_2 \\ &= [[(x_1^1, \dots, x_n^1), \dots, (x_1^n, \dots, x_n^n)]_2, (y_1^2, \dots, y_n^2), \dots, (y_1^n, \dots, y_n^n)]_2. \\ \text{By Eq.(2), for all } 2 \leq k \leq n, \quad z_k &= [[x_k^1, \dots, x_k^n], y_k^2, \dots, y_k^n], \text{ and} \\ z_1 &= \sum_{i=1}^n [[x_2^1, \dots, x_1^i, \dots, x_2^n], y_2^2, \dots, y_2^n] + \sum_{l=2}^n [[x_2^1, \dots, x_2^n], y_2^2, \dots, y_1^l, \dots, y_2^n] \\ &= \sum_{i=1}^n ([x_2^1, \dots, x_2^{(i-1)}, [x_1^i, y_2^2, \dots, y_2^n], \dots, x_2^n] \\ &+ \sum_{s \neq i}^n [x_2^1, \dots, x_2^{(s-1)} [x_2^s, y_2^2, \dots, y_2^n], \dots, x_1^i, \dots, x_2^n]) \\ &+ \sum_{l=2}^n \sum_{t=1}^n [x_2^1, \dots, x_2^{(t-1)}, [x_2^t, y_2^2, \dots, y_1^l, \dots, y_2^n], x_2^{(t+1)}, \dots, x_2^n] \end{aligned}$$

$$\begin{aligned}
 &= \sum_{i=1}^n [x_2^1, \dots, x_2^{(i-1)}, [x_1^i, y_2^2, \dots, y_2^n], x_2^{(i+1)}, \dots, x_2^n] \\
 &+ \sum_{i,s=1}^n \sum_{s \neq i} [x_2^1, \dots, x_2^{(s-1)}, [x_2^s, y_2^2, \dots, y_2^n], \dots, x_1^i, \dots, x_2^n] \\
 &+ \sum_{l=2}^n \sum_{t=1}^n [x_2^1, \dots, x_2^{(t-1)}, [x_2^t, y_2^2, \dots, y_1^l, \dots, y_2^n], \dots, x_2^n].
 \end{aligned}$$

Now suppose that

$$\begin{aligned}
 (u_1, \dots, u_n) = & \sum_{i=1}^n [(x_1^1, \dots, x_1^n), \dots, [(x_1^i, \dots, x_1^n), (y_1^2, \dots, y_1^n), \\
 & \dots, (y_1^n, \dots, y_1^n)]_2, \dots, (x_1^n, \dots, x_1^n)]_2.
 \end{aligned}$$

By Eq.(2), for $2 \leq k \leq n$, we have

$$\begin{aligned}
 u_k &= \sum_{i=1}^n [x_k^1, \dots, [x_k^i, y_k^2, \dots, y_k^n], \dots, x_k^n] = [[x_k^1, \dots, x_k^n], y_k^2, \dots, y_k^n] = z_k. \\
 u_1 &= \sum_{i=1}^n [x_2^1, \dots, x_2^{(i-1)}, [x_1^i, y_2^2, \dots, y_2^n] \\
 &+ \sum_{l=2}^n [x_2^i, y_2^2, \dots, y_1^l, \dots, y_2^n], x_2^{i+1}, \dots, x_2^n] \\
 &+ \sum_{i=1}^n \sum_{s \neq i} [x_2^1, \dots, [x_2^i, \dots, y_2^n], \dots, x_1^s, \dots, x_2^n] \\
 &= \sum_{i=1}^n [x_2^1, \dots, x_2^{(i-1)}, [x_1^i, y_2^2, \dots, y_2^n], x_2^{(i+1)}, \dots, x_2^n] \\
 &+ \sum_{i=1}^n \sum_{l=2}^n [x_2^1, \dots, x_2^{(i-1)}, [x_2^i, y_2^2, \dots, y_1^l, \dots, y_2^n], \dots, x_2^n] \\
 &+ \sum_{i=1}^n \sum_{s \neq i} [x_2^1, \dots, x_2^{(i-1)} [x_2^i, y_2^2, \dots, y_2^n], \dots, x_1^s, \dots, x_2^n] = z_1.
 \end{aligned}$$

Therefore $[\dots]_2$ satisfies Eq.(2).The proof is complete.

Example Let A be a 3 dimension 3-Lie algebra with a basis e_1, e_2, e_3 , and the multiplication is $[e_1, e_2, e_3] = e_1$. Then A^3 is a 27 dimensional 3-Lie algebra with a basis $\{(e_i, e_j, e_k) \mid 1 \leq i, j, k \leq 3\}$. For all

$$X_1 = \left(\sum_{i=1}^3 a_{1i}e_i, \sum_{i=1}^3 b_{1i}e_i, \sum_{i=1}^3 c_{1i}e_i \right), X_2 = \left(\sum_{j=1}^3 a_{2j}e_j, \sum_{j=1}^3 b_{2j}e_j, \sum_{j=1}^3 c_{1j}e_j \right),$$

$$X_3 = \left(\sum_{k=1}^3 a_{3k}e_k, \sum_{k=1}^3 b_{3k}e_k, \sum_{k=1}^3 c_{3k}e_k \right), \text{ where } a_{ij}, b_{ij}, c_{ij} \in F, 1 \leq i, j \leq 3.$$

Suppose $(u_1, u_2, u_3) = [X_1, X_2, X_3]_2$. Then

$$\begin{aligned}
 u_1 &= \left[\sum_{i=1}^3 a_{1i}e_i, \sum_{j=1}^3 b_{2j}e_j, \sum_{k=1}^3 b_{3k}e_k \right] + \left[\sum_{i=1}^3 b_{1i}e_i, \sum_{j=1}^3 a_{2j}e_j, \sum_{k=1}^3 b_{3k}e_k \right] \\
 &+ \sum_{i=1}^3 b_{1i}e_i, \sum_{j=1}^3 b_{2j}e_j, \sum_{k=1}^3 a_{3k}e_k \\
 &= \left\{ \det \begin{pmatrix} a_{11} & a_{12} & a_{13} \\ b_{21} & b_{22} & b_{23} \\ b_{31} & b_{32} & b_{33} \end{pmatrix} + \det \begin{pmatrix} b_{11} & b_{12} & b_{13} \\ a_{21} & a_{22} & a_{23} \\ b_{31} & b_{32} & b_{33} \end{pmatrix} + \det \begin{pmatrix} b_{11} & b_{12} & b_{13} \\ b_{21} & b_{22} & b_{23} \\ a_{31} & a_{32} & a_{33} \end{pmatrix} \right\} e_1, \\
 u_2 &= \left[\sum_{i=1}^3 b_{1i}e_i, \sum_{j=1}^3 b_{2j}e_j, \sum_{k=1}^3 b_{3k}e_k \right] = \det \begin{pmatrix} b_{11} & b_{12} & b_{13} \\ b_{21} & b_{22} & b_{23} \\ b_{31} & b_{32} & b_{33} \end{pmatrix} e_1,
 \end{aligned}$$

$$u_3 = [\sum_{i=1}^3 c_{1i}e_i, \sum_{j=1}^3 c_{2j}e_j, \sum_{k=1}^3 c_{3k}e_k] = \det \begin{pmatrix} c_{11} & c_{12} & c_{13} \\ c_{21} & c_{22} & c_{23} \\ c_{31} & c_{32} & c_{33} \end{pmatrix} e_1.$$

$$\begin{aligned} \text{Specially, } [(e_1, e_1, e_1), (e_2, e_2, e_2), (e_3, e_3, e_3)]_2 &= (3e_1, e_1, e_1), \\ [(e_1, e_1, e_1), (e_2, e_1, e_3), (e_3, e_3, e_3)]_2 &= (e_1, 0, 0). \end{aligned}$$

Theorem 2.2 *Let A be an n -Lie algebra. Then for any $3 \leq s \leq n$, A^n is an n -Lie algebra in the multiplication $[\cdot, \dots, \cdot]_s$, where for all $x_i^j \in A$, $i, j = 1, \dots, n$,*

$$\begin{aligned} &[(x_1^1, \dots, x_n^1), \dots, (x_1^n, \dots, x_n^n)]_s \\ &= \left(\sum_{i=1}^n [x_s^1, \dots, x_1^i, \dots, x_s^n], [x_2^1, \dots, x_2^n], \dots, [x_n^1, \dots, x_n^n] \right). \end{aligned} \tag{3}$$

Proof The proof is similar to Theorem 2.1, we omit the computation process.

Corollary 2.3 *Let A be an n -Lie algebra. For any $2 \leq s, k \leq n$, $s \neq k$, the vector space A^n is an n -Lie algebra in the multiplication $[\cdot, \dots, \cdot]_k^s$, where for all $X_j = (x_1^j, \dots, x_n^j) \in A^n$, $j = 1, \dots, n$,*

$$[X_1, \dots, X_n]_k^s = ([x_1^1, \dots, x_1^n], \dots, \underbrace{\sum_{i=1}^n [x_k^1, \dots, x_s^i, \dots, x_k^n]}_s, \dots, [x_n^1, \dots, x_n^n]). \tag{4}$$

Proof The proof is similar to Theorem 2.1.

Denote $A^j = \{(0, \dots, 0, \underbrace{x}_j, 0, \dots, 0) \mid x \in A\}$, $j = 1, \dots, n$, and

$$B_i = (A, \dots, A, \underbrace{0}_i, A, \dots, A), \text{ for } i = 1, \dots, n.$$

Then we have the following result.

Theorem 2.4 *Let A be an n -Lie algebra. Then*

1) *For each $j \neq 2$, and $1 \leq j \leq n$, A_j is an ideal of the exterior direct sum n -Lie algebra $(A^n, [\cdot, \dots, \cdot]_2)$, A_2 is a subalgebra.*

2) *For $j \geq 2$, A_j is isomorphic to the n -Lie algebra A , therefore, n -Lie algebra A can be embedded in its exterior direct sum n -Lie algebra $(A^n, [\cdot, \dots, \cdot]_2)$.*

3) *A_1 is an abelian subalgebra of $(A^n, [\cdot, \dots, \cdot]_2)$, that is, $[A_1, \dots, A_1]_2 = 0$.*

4) *The subspace B_1 is a subalgebra of the n -Lie algebra $(A^n, [\cdot, \dots, \cdot]_2)$, and B_i for $i = 2, \dots, n$ are ideals.*

Proof For all $x_k \in A$, $1 \leq k \leq n$, and $j \geq 2$, by Eq.(2),

$$\begin{aligned} &[(0, \dots, 0, \underbrace{x_1}_j, 0, \dots, 0), \dots, (0, \dots, 0, \underbrace{x_n}_j, 0, \dots, 0)]_2 \\ &= (0, \dots, 0, \underbrace{[x_1, \dots, x_n]}_j, 0, \dots, 0) \in A_j. \text{ And for } j \neq 2, \\ &[(0, \dots, 0, \underbrace{x_1}_j, 0, \dots, 0), A^n, \dots, A^n]_2 \\ &= (0, \dots, 0, \underbrace{[x_1, A, \dots, A]}_j, 0, \dots, 0) \subseteq A_j. \end{aligned}$$

It follows the result 1). The result 2) follows from the result 1).

By Eq.(2), we have $[A_1, A_1, A^n, \dots, A^n]_2 = 0$, the result 3) holds.

By the similar discussion, we obtain the result 4).

Corollary 2.5 For $3 \leq s \leq n$, the subspace A_j is a subalgebra of the n -Lie algebra $(A^n, [, \dots,]_s)$, $j = 1, \dots, n$, and in the case $j \neq 1$, A_j is isomorphic to the n -Lie algebra A . For $i \neq s$, $1 \leq i \leq n$, A_i are ideals of $(A^n, [, \dots,]_s)$. And The subspace B_1 is a subalgebra of the n -Lie algebra $(A^n, [, \dots,]_s)$, and B_i for $i = 2, \dots, n$ are ideals.

Proof The proof is similar to Theorem 2.4. We omit the computation process.

Acknowledgements

The first author (R.-P. Bai) was supported in part by the Natural Science Foundation (11371245) and the Natural Science Foundation of Hebei Province (A2014201006).

References

- [1] J. Bagger, N. Lambert, Gauge symmetry and supersymmetry of multiple $M2$ -branes, *Phys. Rev. D*, 2008, **77**, 065008.
- [2] R. Bai, C. Bai and J. Wang, Realizations of 3-Lie algebras, *J. Math. Phys.*, 2010, **51**, 063505.
- [3] V.T. Filippov, n -Lie algebras, *Sib. Mat. Zh.*, 1985, **26**: 126-140.
- [4] A. Gustavsson, Algebraic structures on parallel $M2$ -branes, *Nucl. Phys. B* 2009, **811**: 66-76.
- [5] P. Ho, R. Hou and Y. Matsuo, Lie 3-algebra and multiple M_2 -branes, arXiv: 0804.2110.
- [6] P. Ho, Y. Imamura, Y. Matsuo, $M2$ to $D2$ revisited, *JHEP*, 2008, **003**, 0807. doi: 10.1088/1126-6708/2008/07/003.
- [7] G. Papadopoulos, $M2$ -branes, 3-Lie algebras and Plucker relations, *JHEP*, 2008, **054**, 0805, doi:10.1088/1126-6708/2008/05/054.

Received: August 31, 2016